
renewal income

override income

$3,000,000 ip per month

$500,000
140%

$500,000

130%vp vp 130% vp
$250K $250K

$2,000,000

120%

100 agents at $20K a month total vp production

300 agents

$500,000
140% vp

0 spread = 0 override

10% spread = $50,000  
70% placement & persistency = $35,000  $500,000

130% vp

$2m
120%agents 20% spread = $400,000  

70% placement & persistency = $280,000 
override

override

total
override $315,000

override volume$2,500,000

mp  fe
70%   30% 30% fe volume = $750,000  

2%  avg renewal spread =  $15,000 

total
w/renewals $330,000

$
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$3,000,000 ip per month

$500,000
140%

$500,000

130%vp vp 130% vp
$250K $250K

$2,000,000

120%

100 agents at $20K a month total vp production

300 agents

$3m
total volume 7% of $3,000,000 = $210,000

1% of $500,000 = $5,000   bonus
140% vp

bonus
vp override .25% of $1,000,000 = $2,500  

 
total
bonus $217,500

total
gross income $547,500

bonus income

staff 4 staff at $50,000 per year = -$16,667

= $10,000   leads

office = $2,000 

expenses

marketing = $3,000 

total
expenses $30,000

$

$
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$3,000,000 ip per month

$500,000
140%

$500,000

130%vp vp 130% vp
$250K $250K

$2,000,000

120%

100 agents at $20K a month total vp production

300 agents

override
total = $315,000

= $15,000   renewal
total

bonus
total = $217,500 

total
gross income $547,500

total income

40% 40% of $547,500 = $219,000

total
net income $3,582,000

taxes
after = $328,500 $547,500 - $219,000

expenses
after = $298,500 $328,500 - $30,000

total
net income $298,500 month

per

year
per

$ income taxes
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